NAVE: M| e Lai ssei ne m Base OCV: 5 Base DCV: 5
PLAYER: Adj ust ment + Agj ustment +
I nal OCV = I nal =
VALUE CHAR  COST BASE PTS
10 Strength x1 10 0
14 Dexterity X3 10 12
13 Constitution x2 10 6 Maneuver Phass OCV DCV Effect
10 Body X2 10 0 Block 12 +0  +0 stopsattack
20 Intelligence x1 10 10 Brace 0 +2 12 +2vsRMod
18 Ego X2 10 16 PTS PONERS END [pisarm 12 -2 +0 STRvsSTR
18 Presence x1 10 8 30 ECD(()B(M Dodge 12 +0  +3 all attacks
10 Coneliness x1/2 10 0(20a) 12 nd Scan,Only to Grab 12 -1 -2 grab,doSTR
2 Physical Defexl 2 0 use Tel epathy(-1/2 6 [Haymaker 2 40 -5 x112STR
3 Energy Def ensx1 3 0|34b) 12D6 Tel epathy,Only to Move By Y2 -2 -2 STRR2+v/5
3 Spee x10 2.4 6 recei ve pictures Move Through Y2 -5 -3 STR+V3
5 Recovery X2 5 0 (-3/ 4{, 0 END( +1/2) 0 [set 1 41 40
26 Endur ance x1/2 26 0 11 M nd Link,x8 # O
22 Stun x1 22 0 M nds,Only to receive Rang <4 <8 <16 <32 <64 <128
Characteristics Cost: 58 pi%}(_ulrles(-3/4) Rwd -0 -2 -4 -6 -8 -10
== | ==
%EIX? Eol I : %% E\L,J\A_n 2" Bg gSLe\_I/_eI s,hal I 1gki l(llsNT DEX: 14 SPD: 3 ECV: 6
ol | : - m " . Teacher -,
INT Roll: 13- [Junp 2" based) Phases . . -4 - - -8 - - -w
EGO Rol | : 13- 5 SC. Psychol ogy 15-, POYrPD 2/ O EDFrED 3/ O
PER Roll: 13- (INT based) END: 26 STUN. 22 BODY: 10
Experience: 43
DI SADVANTAGES BASE: 100+PTS
DNPC, "Rosal i e, ni ece", 15 3D6 Loc  StunX NStun BodyX CV Armor
i nconpet ent, appear 8- 35 Head X5  x2 x2 -8
D stinctive,"Detects as a 10 6  Hands x1 xU2  x2 -6
nmut ant ", easily 7-8  Arms X2  x12 x1/2 -5
conceal abl e, naj or 9 Shoudes x3  xl x1 5
Normal Stats 20 10-11 Chest x3  xl1 x1 -3
Rep, "Tal ent ed", occur 8- 5 12 Stomach x4 x112  x1 -7
13 Vitas x4 x112 X2 -8
14  Thighs x2 x1 x1 -4
15-16 Legs x2 x1/2 x1/2 -6
17-18 Feet x1 x1/2 x1/2 -8
Ki ngd f ChNOTES (410) p18¢4
i ngdom o anpi ons 9
Namge: Ml e Lai ggeni e P
Speci es: Human nut ant
Gender: Femal e
Height: 5 feet 2 inches
Wi ght: 47 kil ogramns
Hai r: Brown
Team L'Institut Thoth
Di sadvant ages Tot al 50| 135 : Powers Tot al
Experience Spent + 43 58 + Characteristic Total
Total Points = 193| 193 = Total Cost




